Thursday 4th February
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How many sweets were in the bag?

3 Ahirds make a mwhole /b,aq.

we mneed 3 Aois ,o/f Ahe

aweels Ao make a /j"/u/{/{ /Q/aq.
L X 3 =12

There WwAidd he 12 aweets Am

Ahe baq.
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Find l of 94 using place value counters.
00 o0 oa (J I/m,a,q/i/nz

@/@ e @’ @0 0@ 8 T
@ Start mwith the 9 tens

and share Athem Amnio

N Ahe groups.
There is ome tem Aefi
a0 exchamnge AL imAo 10
omes.
‘ Now share Ahe 16 omes
AmAo gromps.
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Jasmine runs a fruit stall.

She has(@ne tenth of her T TefE>

How much fruit did she start with altogether? Explain your answer.

7 mieces of frait = | How mamny fenihs make a

10 whode? |0
So 1921 =710 She started mwith 70.




